WJEC Past Paper Questions	     Tier: Higher		Topic:     Indices, surds, irrational numbers
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Are the following statements true or false? Circle the correct answer.
You must give a full explanation of your decision in each case.

(@)
& + B is always an even number when aand b are whole numbers.

m

true / false

(b)
&b is always an odd number when aand b are odd numbers.

[21

true / false
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Higher Maths June 2017 P1 Q3b




image6.png
(b) The number 33554432 is equal to 2.

Explain how this tells you that 33554432 is not a square number.
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Higher Maths Sample 1 P1 Q5ac
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Circle your answer in each of the following.
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The value of 22 as a fraction in its simplest form is

17%s equal to
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Circle the correct answer for each of the following statements.

(i) (ﬁr is equal to
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(i)

12%is equal to
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(i) V3252 is equal to
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(iv)

3~*is equal to
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(b) 4 x 228 can be written as 2.
What is the value of n? [2]
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Circle the correct answer for each of the following statements.

(a) 9'% is equal to
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(b)

2
83 isequal to
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(b) Is the following statement true or false? Circle the correct answer.
You must give a full explanation of your decision.

2
The evaluation of a@ will always be an integer provided a is a multiple of 3.

true / false
(c) Circle your answer in each of the following.
(i) V200 simplifies to
20 10V2 20V10 100v2

2V10

1
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(i) V5 + V45 simplifies to
V225

10V5

410
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(a) Evaluate 49‘% s
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(c) Find the value of [«/a— \ﬁ)
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(a) Which one of the following numbers is rational? Circle your answer.

5 v Vi =

(b) Which one of the following numbers is irrational? Circle your answer.

Vidd V64 079125

LN

0
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(b)

Evaluate
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(b) Find the values of @ and b, given that (4—«/5}‘ =a+by3. [31

22
(c)  Evaluate 27 3. [2]
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Circle the correct answer for each of the following statements.

3
(a) 9?isequal to

[1
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1
(h) 10000 % is equal to

—10000

—2500

2500

100

[1
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(a) Simplify V45 .
U]

Circle your answer.

35 3J15 53 95 225

() Evaluate (2~/7—\/§)2.
Simplify your answer. [2]
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3
(c) Evaluate 16 2.
[2]
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() Calculate (V8 —JE)Z. 2

(i) Calculate % s

Give your answer in the form a«/E, where a and b are integers, and b is as small as
possible. [2]
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(b)

Expand and simplify (8 — 3ﬁ)(5+«/7).

[2]
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1

(h) Fvaluate (-3—16-] E ]
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You are given that p =+/40 and ¢ =+10.
Circle the correct answer in each of the following:

(a) pisequalto

1043 4410 1042

2+10
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(b) pgisequal to

10440
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(c) ¢’ isequalto
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3
Circle the expression that is equivalent to w 5 .

O )
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Simplify

(5«/5)2—%
Va2 x2

and state whether your answer is rational or irrational. [51
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(a) Give one example to show that the square of an irrational number is not always rational.
[
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Number = _. Square of the number = ....

(b)  Find two different irrational numbers to make the answer to the calculation below rational.
Complete the calculation by filling in the three boxes. M
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Simplify each of the following and circle the correct answer in each case.
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